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Mixed Gas Law Problems
Honors Chemistry

Determine which gas law is used and solve the following problems:
o All answers should be in grams, liters, atmospheres, or Kelvin.

1. Chlorine gas occupies a volume of 1.2-L at 0.947-atm of pressure. What volume will it occupy at 1.00-atm assuming
the temperature remains constant? ’ui\ 68 luong
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2. Hydrogen gas was cooled from 150°C to 50 °C at a constant pressure. Its new volume is 75.0-mL, what was its
original volume?( oulest Lo
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3. What mass of Cl,, in grams, is contained in a 10.0-L tank at 27.0°C and 3.5-atm of pressure? \ eal Gad L-au
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4. Amass of Fluorine gas exerts a pressure of 120-kPa. Wlth temperature remammg constant, the pressure decreased
by 24-kPa changing the volume to 250-mL. What was the original volume? %0 e b) | k) .
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5. Amass of unknown gas occupies 5.05-L at 27.5 °C and 0.938-atm. What is its new volume at STP? (_typ b ned Aas | aw
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6 What pressure will 2. 07 kg of N,0 gas exert when placed in a 14.1 L container and it's stored at 72.0°C? l(l 0¢ L {_:\(,i,__\., ii.‘tf:.‘-\_,:
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7. Asample of argon gas in a rigid container with constant volume is cooled down. If a manometer reads 1.46-atm —
when the gas temperature was at 97°C, what would the pressure of the gas be when the system reaches 0°C?
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8. A gasoccupied 355-mL at a pressure of 0.982-atm and a temperature of 22 °C. The pressure increases 0.11-atm and

the temperature drops 7 °C, what is the new volume? (_ iy} i m | i)
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9. A mass of helium at constant pressure has a volume of 3.8-L at -45°C. What volume will it occupy at 45°C? norle.s 1
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10. Determine the “mass” of CO, gas that has a volume of7.1-Lata pressure of 112.4-kPa and a tempierature c\n‘ %1 i .
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11. A container with an initial volume of 1.0-L has a pressure of 1.48-atm at 25 C The temperature is raised 100°C,
changing the pressure of the gas to 5.92-atm. What is the new volume? ( W hin e “ (\ S Jaud =,
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|~ 12.'If 4.0 moles of a gas at a pressure of 5.4 atmospheres has a volume of 120.0 -L, what is the temperature? \(,:L cal L} as Lo
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13. A given mass of gas has a pressure of 0.829-atm and a temperature of 35 °C. When the gas is heated an additional
} 230 degrees, what will the new pressure be in a rigid container? ‘/d ul . 5 wssac' S Lo
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14, A solid metal cyhnder has a volume of 260.0-L with an internal pressure of 760-torr. If the sun heats it from a
temperature of 20° C to a temperature of 55° C, what will the new internal pressure be if mass remains constant?
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